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I EEFBNZOH
1 BEFEFIA
(1) ERBFEZERILA 3,000 640 A 2,360
F KB EF BUXA 3,000 640 A 2,360
(2) BEEEERIA 0 120 120
HEEEMBIRA 0 120 120
(3) #HEIEFULA 40, 200, 000 40, 200, 000 0
EHBEIRA 40, 200, 000 40, 200, 000 0
ZTDMZFEEEIRA 0 0 0
4) FHEIXA 1, 000, 000 1, 000, 000 0
FHEUA 1,000, 000 1, 000, 000 0
(5) HIXA 1,637,000 2,008, 710 371,710
HMILA 1,637,000 2,008, 710 371,710
(6) ATHARRHMEULA 300, 000 0 A 300, 000
ATHIEHEURA 300, 000 0 A 300,000
FEREIULAGH 43, 140, 000 43, 209, 470 69, 470
2 BEFBXE
(1) BXEZH 21,722,000 21, 458, 068 A 263,932
@ 1EIRIZE - TRERBEERH 4,000, 000 4,000, 000 0
@ FETCXEAMOBREBEEH 900, 000 900, 000 0
Q@ BERLEAMDEREEERH 2,800, 000 2,800, 000 0
@ ZHAXRUEEEEEH 14, 022, 000 13, 758, 068 A 263,932
2) EBEEXH 21,418, 000 20, 415, 000 A 1,003,000
O ABEEXZH 16, 685, 000 16, 685, 000 0
Q@ EHEBEEXMH 4,733,000 3, 730, 000 A 1,003,000
SEREZHE 43, 140, 000 41, 873, 068 A 1,266,932
FEEEINZEEE 0 1, 336, 402 1, 336, 402
I HEITENZOE
1 JBEFEIRA
AR ERAIRA 0 0 0
BEARMIESHTHAUNA 0 0 0
BEFHIRAG 0 0 0
2 BERBXE
EARBERGZH 0 0 0
EHFEEZH 0 0 0
BEEEDNSXH 0 1,000, 120 1,000, 120
EHFEE T H 0 1,000, 120 1,000, 120
BEEEERSEIH 0 0 0
HHREREAZEH 0 0 0
BREES I HET 0 1,000, 120 1,000, 120
BEREIREZ =48 0 A 1,000,120 A 1,000,120
I BAF5EENNSZ D ER
1 BAFSIEEIRA
B EBIRAGT 0 0 0
2 BABEREXE
B ES X HET 0 0 0
BB RSN =S 0 0 0
LU = EE 0 336, 282 336, 282
ATHAfEMIN T =48 3,620, 000 3,620,009 9
REAFE RN T = EE 3,620, 000 3,956, 291 336, 291




